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30B - Jack) 
The Business Cycle is the natural growth and shrinking of an economy over time as factors influence a decrease and increase of production (as measured by GDP) in the economy.  

The trough of a business cycle is the lowest point in the business cycle and refers to the lowest point in the growth of the economy. A trough is the lowest point and as such is followed by an upswing - growth to an economy.  

Characteristics of a trough in the business cycle include;
· Cyclical and Structural UnN @ max
· Frictional UnN @ Min
· Int/R @ Min
· Business & Consumer Confidence @ Min
· Home Approvals @ Min
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The fact that interest rates are low and structural change is at its highest both employment and domestic investment increases forcing a natural growth in the market and causing an upswing. The lower the interest rate means lesser opp cost to use credit increasing consumption in GDP. Investment also increases due to assets being bought with loans on lower interest rates. Government spending is at a high due to transfer payments as the UnN rate is at its greatest. Exports are likely to increase compared to imports as both the price of imports increase due to a drop in exchange rate and a lesser in the willingness and ability to buy imports from consumers while exports are bought as they are cheaper thanks to lesser exchange rates. This naturally forces the GDP to increase as all factors in the AE function increase (AE =C + I + G + (X-M)).
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This question is based on the hypothetical data in the table below.

Year CPI CAD as % of GDP
2015 107.2 25
2016 109.8 29
2017 1139 40

From the information in the table above, which of the following is most likely to have
occurred in 2017?

(a)
(b)
(©)
)

an increase in business investment
a reduction in interest rates

arise in the unemployment rate

a cyclical increase in the budget deficit

The contribution of net exports to aggregate expenditure is likely to fall when the

(a)
(b)
(©)
)

terms of trade rises.
overseas economic growth rate rises.
domestic economic growth rate rises.
value of the Australian dollar falls.

Anincrease in the level of investment in an economy, with a marginal propensity to
consume of 0.8, leads to a total increase in national income of $350 million. What
was the value of the change in investment?

(a)
(b)
(©)
)

$35 million
$70 million
$120 million
$280 million
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This question relates to the graph below.

Consumer
spending 450

Level of disposable income

The change in the slope of the consumption function from C, to C, represents

(a)  adecrease in the marginal propensity to save.

(b)  anincrease in the marginal propensity to consume.
() anincrease in the size of the multiplier.

(d)  adecrease in the size of the multiplier.
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Question 30 (20 marks)

(a)  Explain and demonstrate, using an aggregate expenditure (AE) model, how an economy
would move towards macroeconomic equilibrium if output was greater than spending.
(8 marks)

(b)  Describe the main characteristics of the trough phase of the business cycle and explain
why this phase is unlikely to last indefinitely. (12 marks)
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16.

7.

Interest rates and the level of investment expenditure are negatively related because as
rates rise

(a)  the price of borrowed money and the opportunity cost of that money also rise.
(b)  firms are more likely to invest due to negative expectations.

(c)  the prospective return on investment must be less than the rate of interest.
(d)  investment automatically falls because of lower business confidence.

Refer to the diagram below to answer the following question.
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Al other things being equal, real interest rates and planned investment have a

(a)  positive relationship.
(b)  proportional relationship.
() negative relationship.
(d)  nominal relationship.

'Which of the following would cause a decrease in the value of the multiplier?

(a)  the goverment increases income tax rates
(b)  investment spending declines

(c)  the terms of trade falls

(d)  the marginal propensity to save decreases

‘Which of the following statements about the consumption function is correct?

(a)  As disposable income rises, the marginal propensity to consume falls.

(b)  As disposable income rises, the marginal propensity to consume rises.

() As disposable income rises, the marginal propensity to consume does not
change.

(d)  As disposable income rises, the marginal propensity to save rises.
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“This question refers to the data i the table below for a hypothetical economy.

Indicator

Vet | Veurz | Vewrs | Vewrd | Vaur®
raee g | s | s | om |
vempomentme | gy |53 | w0 | 55 | ss
Consumer Price 100 1010 1052 1073 107.1
commtseeontoetst | oo [ 4y | ose | ose | oas
B“S"(ﬁ'é';f,‘;“““' 100 156 178 152 75
(@ () Calculate the real economic growth rate in Year 3. (1 mark)
(i) Identify the indicator in the table that is lagging. (1 mark)

) Identity the year which had the highest rate of iniaton.

(1 mark)
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Question 30 (20 marks)

In recent years, Westem Ausiralia has experienced the rapid expansion of new mining and
energy industries such as litium and liquefied natural gas (LNG) and increased investment by
new firms that could eam the nation hundreds of biions of dolars in exports.

(a)  Discuss the importance of investment to the Australian economy and expiain the facors
that can influence the total amount of investment spending in Australia. (10 marks)

(o) Use the agoregate expenditure model and the multplier process to demonstrate and
‘explain the likely effect of the increased mining and eneray investment on the Australian
economy. (10 marks)




